EARAROBEEIERT — 2 N— IBISH —F

201288170 (&) 8EAIH6H

HilsrAT4' B2=B3— ¥5%—#

EZS

‘ [REBE] — | & (&) 16000 B

[A&4£] 1 7% :2,700,000  ~ 23 :810,000 @ 33 :540,000 § ~ 4 3#&:324,000 5 37 :216,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
NN s WHAfEX 142, —2-1- . — KEZEMH (KHF)
lalo| ¥av%xv3ot > 5 e 1(4_2)0 5-2-1-2 | 38.0 5 (4;0) i gl ot
R:T7T1T745—T71>7 B:¥atrex I1LEF 45
= i 6 | AEE 1:42.5 1-1-1-1 | 38.5| — 4 469 | BAELETT (KH)
ol 7| VLT T - 5.0 2 172) ) | BEE
RTANRTy 2 BIXHHI J—HrIr—L
5 o6 | WIHFK 1:42.6 8-7-4-4 |38.4| — 2 475 | ETEH (D)
31718 Hh—H/—="T7 57.0 (3/4) (+3) | SEBC
RNFT7— BHECYANTR J—=YTr—L
. t> 6 | EEAH 1:42.6 2-4-3-3 | 38.4| — 1 492 | TEILBEEE (Z\iA)
B3| T—-P>NER “ 7 570 (75 =) ) | EEE
v RN BiHTIA ht— #H B=
. s B 5 | SHER 1:42.6 9-9-9-8 |37.8| — 3 463 | FEE—S (&)
5 4 Ny J2E ~ 55.0 (INF) (-5) EEH—
L:vA1xItEL I b B:21XIIUET IFH XF
‘. \ 4 6 | FTHER 1:43.1 4-6-6-6 |38.5| — 7 470 | FBARFIS (AviA)
6 2| by THNT 55.0 2 1/2) 1) | @) Ehsss
L:vUIPN=K B:74-UT774—-> BERS
. 3 4 o6 | HEAREE 1:43.4 6-5-7-7 [38.9| — 8 484 | BER (K3H)
7155 N 17717 57.0  12) Gy | ) mmER
LoYWRIVR—A B:Fi¥r/ U3 EOWS
5 o4 | RHEIHER 1:43.6 3-3-8-9 [39.0| — 10 | 468 |MBFIKR (KFH)
EH 6| F¥XA¥e—0— 57.0 (3/4) 1) |dnES
R:TXAVHLRZ B:orhL¥ITY A AR
N O— 4 o6 | AEEXR 1:43.8 10-10-10-10| 38.7 | — 6 458 | SEILBSEE (/IK)
9|8|10)F¥afie—n 57.0 (1 1/a) o | EiLE—
RXLTHAANAN BV TTUI RS J—HrIr—L
- Fot .45, _Q_F_ . — HAERE ()
wlili]57=2 b x5 p— o | BB oS | RS | ol REs
RiZa—A G52 F Bia—1ATHIA b 2]l =7
® 1—F—@EBIERL
13—74— 7,3,6,2,9,5,1,8,4,10
2a=5F= 7,9,6,3,5,2,8,1,4,10
== (7,9),3,8,1,2,5,6,4,10
40—F— 7,9,3,8,1,2,5,4,6,10
[ N5
B 9 900H 714K 7-9 1,070M e E 7-8 700M JEE 7-8-9 2,980M
B B 9 260M 8-9 520M e B 8-7 1,550 EE 9-7-8 25,530
7 200H 7-8 580M B & 7-9 2,840M
8 1609 B H 9-7 5,860

ABICOVWTRDTEEERROODE. TR LIV,




